
Mad
e i

n S
wit

zer
lan

dL

1

.6

.8

.4

.2
0

L

Mad
e i

n S
wit

zer
lan

dL

1

.6

.8

.4

.2
0

L

ZDB-LF

Mad
e i

n S
wit

zer
lan

d

1

.8

.6

.4

.2

0

R

R

ZDB-LF

Mad
e i

n S
wit

zer
lan

dL

1

.6

.8

.4

.2
0

37...100%

Mad
e i

n S
wit

zer
lan

dL

1

.6

.8

.4

.2
0

37...100%

ZDB-LF

min. 20

8...16

Mad
e i

n S
wit

zer
lan

d

1

.8

.6

.4

.2

0

R

R

min. 84

8...16

E
N

G
-9

30
01

-9
32

27
-0

1.
00

 •
 Z

S
D

 •
 S

ub
je

ct
 t

o 
te

ch
ni

ca
l c

ha
ng

es

13

Instructions for direct mounting

m
00

46
71

2

BC



Made in

L

1

.6

.8

.4

.2
0

1

1

4

3

5

5

6

Made in

L

1

.6

.8

.4

.2
0

M
a
d
e
 
i
n

L

1

.6

.8

.4
.2

0

Made in

L

1

.6

.8

.4

.2
0

2

4

5

3
2

2

E
N

G
-9

30
01

-9
32

27
-0

1.
00

 •
 Z

S
D

 •
 S

ub
je

ct
 t

o 
te

ch
ni

ca
l c

ha
ng

es

14

Instructions for mounting with linkage (ZG-LF… kit)

Flat mounting (fig. 1)

Kit specification ZG-LF1
1 mounting bracket LF
1 crank arm 1⁄2”
1 circlip LF
2 ball joints KG8

3 screws M6 x 67
3 nuts M6
3 self-tapping screws 4.2 x 13

Universal crank arm:
order separately, not included with the
ZG-LF... mounting accessory.

➀
➂
➃
➄

➅

Side mounting (fig. 2)

Kit specification ZG-LF3
2 mounting brackets LF
1 crank arm 1⁄2”
1 circlip LF
2 ball joints KG8

2 screws M6 x 67
2 nuts M6
4 self-tapping screws 4.2 x 13

➁
➂
➃
➄

m
00

47
71

2
m

00
48

71
2

BC



Made in SwitzlandR

0

.2

.4

.6

.8

1

Made in Switzland

R

0

.2

.4

.6

.8

1

a

c

d

b

e

E
N

G
-9

30
01

-9
32

27
-0

1.
00

 •
 Z

S
D

 •
 S

ub
je

ct
 t

o 
te

ch
ni

ca
l c

ha
ng

es

15

Mounting instruction for tight-sealing dampers

1. Move damper blades to the fail-safe
position (a) and determine the orienta-
tion of the universal clamp.

2. Engage the actuator on the shaft as
close as possible to the determined ori-
entation. Fix the screws lightly on the
V-bracket by hand. In the example the
spring return has to go clockwise (cw).
Therefore the actuator has to be visible
with the mounting side R.

3. Mount the universal mounting bracket
in the right position (do not tighten the
screws).

4. Remove the screw at one end of the
mounting bracket and pivot it away
from the actuator (b).

5. Loosen the universal clamp and, mak-
ing sure not to move the damper shaft,
rotate the actuator approximatively 5°
in the direction which would open the
damper (c).

6. Tighten the universal clamp to the shaft
(10 mm wrench). 

7. Rotate the actuator “damper closed”
to apply pressure to the damper seals
(d).

8. Rotate the mounting bracket in the
definitive position (e) and tighten all fas-
teners.

Installation steps 
as example

m
00

49
71

2

BC


